I &t

1 BESE
(1) BEH
<RE(—H) >
AE BAR | A HER |26 -ARELGL &t
0 w3 13,064 185 13,434 26,683
1 ok 18,006 98 12,559 30,663
2 fEsn 38,576 286 25,244 64,106
3 s 62,816 535 42,335 105,686
4 =k 28,572 378 16,954 45,904
5 F AT 33,123 308 26,473 59,904
6 EX 13,156 103 6,518 19,777
7 =17 32,691 318 24211 57,220
8 BiE 8,159 65 5,005 13,229
9 pe=2 130,727 1,351 189,456 321,534
Nt 378,890 3,627 362,189 744,706
<RE(RE)>
AE BEAR | A AR |[95E 2REGY &t
RE 77,735 21,646 177,440 | 276,821
<HEEE>
AE BEAR | A AR |[95E 2REGH 5
Mt 31,662 - 5,132 | 36,794
<BREERER>
AE BAR | A2 HEA |2 -2RELGL 5
CD 7,390 - 264 7,654
DVD 5,110 - 1,129 1,355
ETA 12 - 1,343 6,239
Nt 12,512 - 2,736 15,248
<ZDih>
AE BAR | A2 HEA |2 -2ARELGL 5
fiH & 42 - 163 205
Tk 920 - 0 90
NGt 132 - 163 295
AfE BAR | A% B4R K- 2RELY Hi
W5 500,931 25,273 547660|| 1,073,864

(BGL: 1)



(2) REODT—THEEHR

<EHKE(—HR) > <HE(RE)>
EAR 4k F it EPNE] Sik7 9z Hi
—fgE 192,734 3,627 196,361 RE 42,271 13,886 56,157
XE 42,303 - 42,303 YN 30,708 7,760 38,468
HE 3,522 - 3522 | [azvsy 4,756 - 4,756
KiEF 2,405 - 2,405 N 77,735 21,646 99,381
BABK 23,886 - 23,886 -
<HFE>
NEBR 6,427 - 6,427 =
N & A A & A B
5L 22,635 - 22,635 -
Mis 31,662 - 31,662
R B8 52 16,192 - 16,192
i 7,770 - 7,770 < PRETEH>
Yo 8,247 - 8,247 EPNE Sik7¥z3] &t
TEa—4 2.649 - 2649 CD 7,390 - 7,390
REAKR 15 - 15 DVD 5,110 - 5,110
E&E 6,316 - 6,316 | | ETH4 12 - 12
RiE 2,737 - 2,737 INET 12,512 - 12,512
Hhisg 14,207 - 14,207
<FDi>
R4z 2,659 - 2,659 =
& A A kA B
5% 10,071 - 10,071
0 1% & 42 - 42
ECRR 13,595 - 13,595
AV ]S 90 - 90
[EEE 520 - 520 =
= INET 132 - 132
INET 378,890 3,627 382,517
EPNE Sik79z3] Hi
s 500,931 25,273 526,204

(BGL: )
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